INDEFINITE INTEGRALS

11.

13.

15.

17.

19.

21.

23.

Marks 1 2 3 Total Marks
No.of Questions | 1(K) | 1(U) | 2(K+ U) 9
1 MARK QUESTIONS
(Knowledge)
1 8
. Intergrate W.R.T X : o 2. Intergrate WR.T X : COSEC X
2 6 X
. Intergrate WR.T X : 4 sec’ x 4. Intergrate W.R.T X : X —;‘i‘ Se
. Intergrate W.R.T X : 7~10.9* 6. Intergrate WR.T X : x*+e¢*—loga
7. Intergrate W.R.T X : 77 8. Intergrate W.R.T X : cot’x
Intergrate W.R.T X : 7x>—4 sec*x 10. Intergrate W.R.T X : (3x+5)?
Intergrate WR.T X : ! 12. Evaluate : Jdex
g R. STY . :
J ! dx 9 dx
Evaluate : 2/;5 14. Evaluate : jsinzx
3 1
Evaluate : J—dx 16. Evaluate : j —dx
x Se
9cosx ses7
Evaluate : j ——dx 18. Evaluate : je dx
Ssin” x
Evaluate : J(3x+5)2 dx 20. Evaluate : J 1
3x+5
Evaluate : j : dx 22. Evaluate : je3 “dx
“Y10x+3 ' '
Evaluate : J(7x —3)4 dx 24. Evaluate : J(?)ex +5a" — el"g")dx
Evaluate : .[73”4dx 26. Evaluate : I35x"3dx

25.
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QUESTION BANK

11.

13.

15.

17.

19.

21.

23.

25.

27.

29.

. Intergrate W.R.T X :

. Intergrate W.R.T X :

Intergrate W.R.T X :

Intergrate W.R.T X :

Intergrate W.R.T X :

Intergrate W.R.T X :

Intergrate W.R.T X :

Intergrate W.R.T X :
Intergrate W.R.T X :

Evaluate : jtanz (3-

2 MARKS QUESTIONS

X +5x7=Tx

Jx

1 3
-]

X
cos’x

3x°

1+ x*

e -1

e —X

1
x(2logx+5)

cos?x sinx

X COSX

xe*

2x) dx

Evaluate : JZx(xz + 2)% dx

Evaluate : Ix.e“dx

Evaluate : jsecz x+/1+ tan x dx

COS x

Evaluate : J Yt sinx

dx

1
Evaluate : J (logx)’ dx

X
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10.

14.

16.

18.

20.

22.

24.

26.

28.

30.

Intergrate W.R.T X :

Intergrate W.R.T X

Intergrate W.R.T X

Intergrate W.R.T X

Intergrate W.R.T X

. Intergrate W.R.T X :

Intergrate W.R.T X

Intergrate W.R.T X

ITPUC

(Understanding)
6 -3
5X

D AJl—-cos2x

1 cos’x

o Ax+3
" 2x?+3x+5

3sinx
" 34+ 4cosx

eX\/eXT

: cosec*x cotx

: logx

Evaluate : j xsin xdx

Evaluate : J

3x+2
3x*+4x-5

dx

Evaluate : j xlog xdx

Evaluate : I x.log3xdx

Evaluate : jex (e" + 2)2 dx

Evaluate : I

9x* +9"log 9
x’+9°

dx

Evaluate : jxx/ 3x*+5dx



3 MARKS QUESTIONS

1—cos2x
. Intergrate WR.T X : —————

1+cos2x
. Intergrate W.R.T X : -

1+sinx

. Intergrate W.R.T X : sin 5x sin 2x

4. Intergrate W.R.T X : cos 9x sin 4x

10.

11.

12.

13.

14.

15.

. Intergrate W.R.T X : cos 7x cos 6x
Int te WR.T X : 2
. Intergrate W.R. 3
. S
. Intergrate W.R.T X : Silsdrin
CosSX +sinx
Intergrate WR.T X : ——————
cosx —sinx
sin2x
Intergrate WR.T X : ————
I+sin” x
1—sin2x
Intergrate WR.T X : —————
X+cos™ x
3
Intergrate W.R.T X : (x+1)(x+2)
Intergrate W.R.T X : x? sinx

SE€CX

Evaluate : j T socx

sin’ x

Evaluate : j T+ oos
X

3x
Sx—1

Evaluate : j
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QUESTION BANK

x
16. Evaluate : _[ dx

17. Evaluate : j

1
18. Evaluate : jmdx

x
19. Evaluate : J mdx

: j3x+2dx

20. Evaluate 2x_5

1
21. Evaluate : Im

dx

1
22. Evaluate : j NN dx

4
23. Evaluate : Jm

1
24. Evaluate : Jx— NP dx

2x _ 1
25. Evaluate : jhdx

' J'1+tanx i

26. Evaluate :
1—tanx

1+cotx
27. Evaluate : J'

l—cotx

2x+3
28. Evaluate : j (

3

x+1)2(x—3)

dx

dx

29. Evaluate : fmdx
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

Evaluate :

Evaluate :

Evaluate

Evaluate

Evaluate

Prove that Jtan xdx = log(secx)+C

Evaluate

Evaluate

Evaluate

Evaluate

Evaluate

Evaluate

Evaluate

Evaluate

4x+5
'J(x—l)(x+2) ’
J‘ Sx+7

(-2 (x+3)

5
: J‘(xz +6x+9)(x—3)dx

1

: '[x(x+1)(x+2)

dx

: Jx2 cos xdx

: Jcotxdx= log(sinx)+C

: jsecxdx = log(secx +tanx)+C

: Jcosecx dx = log(cosecx — cotx)+C

: Jsinllxsin Txdx
: jsin2x.cos3xdx
: JcosSx.cos?»xdx

: jsin 3x.cos2xdx

: J\/1+sinx dx

seskeskok
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